GCT7LA ZMW@ Ob- PF. Ao 10
% pock %ﬁ

Z /p// /L)
o L
7 5z
l121tL=]
I3z [ 535516157 /14 33

+l/e T2 34%567% 9/0 /)

V| I~ ) 2 2 534G (0 //
|/ 4 9 &+ 6 9/0 )1 JL

3
Se F 89T
54 46 9L ) L
7
?

FA4Y /2N )] 1~ 3

B9[] 1-9% Y
4 9 /Ll 1+ 3% Y5
gl -3 Y%5 ¢

g (€4 o )ir)) 8495 47
g 1910 /ir) 34954 7F%
ol j | L3456 F 47
i 11 3486349 /0
z/z/%/ 7% %ﬂ% Qe Ao}
[t, b )——= otb >

2
1712 3
3 |8 4
¥ | 4 9
g \9 4
b |6 7
T\ 7



() 1 3 454 F €9 JpJ)
j2( /v 12 )0 1 Joiz/1/v /)2
[ (1 k) 2 3 4 562 % T /o N
101» 4 & 8 /Ll 74 % /o
312 2 L 6/ 2 b 9/L.3 ¢ 7
Yliv ¥ ¢ )1 4 €/29 €)%
s\ 510 3 90)6 /Y G LT
b1y & /1 LIl b /624
7
<
7
/o

V1L )1 Jo

(e, s5=l PPl WA=y,
& nlepdidle plomesds 21z
e 1,85

Wite (5, |X.
(%) =7
0220, v &, 5230,

/Loé‘w
53 0[ Fetld
S g n Lommntedile
5

S Vg



The velantose bptneen L s.d zg
(Zﬁét\-//n;//l'////p) /)%/.2’~ N ~- [

[5= /147 s
@fz%‘/ s/
Theoven Eunclidepn ﬂy/qwd
Lot miPyp omdd m:r/,//?/ §’£Zo%
AR AR e
e Al #. /I Z%ﬂ/f&— 2.0t

Wi'”o/ é£ Lol /éJﬁU/-njmf/)P
svele Thntf

A = 2:447‘\/“




b7 3
le 2 2 3 &4 5 &
ol o £ & &£ O O
oz 3 Y5 &
1l 24 ¢ B3 8
3lp3 ¢ 2 50D ¥Y
Yl Y ()5 2 & 3
s|\p530) Y v
bloL 49 3 2/

7247/ IMVA’//ﬁz/@/ MM& A% z/fz.

X
{%z 2371,2345¢4§

Paly D is not Myer2i 4t in ’Zég
ropber £ y5tea
A Fdf ts ~ W@%@ﬁ

such Dhat
I il amd FD s

y (s I\AVWf)Z/& ,



‘% clock /Z}/{:,_Z W/L&A/ IS phme.

/47;:/1//1. Mu/f

Th L0/ 8
p N _/lf//“‘ﬂw ond P15

2/2 (S ﬂ/ﬂ/ﬂé

Lo de b Tty
snd p /3 /”nij }//Oézya
(a) ZF n< 2/,2 pondd NFD Dt
Aure u/ufg Z’ﬂ/g svieh 2nd
Jn= / 1’/&

&) 2o ne %
i ? 1é G5 o 2#D Foar

P//
=/ " Z / M/
/i /er/& .

& D

Jarn] w7

(4] f/l,/é%/z_ 2t
//wfj?f ﬂ’)r/o f»j%éwyj
57




Ple 2o 5 X 3
(&J [0)/9/[,).-9// /_'//ﬂ/ /

) ol el 2l

) g it (p k)2

= /’f)\ is elivisible by

o 1 22
[14"7)75 /.,(V‘/P+ Oxyfﬁ/%ﬁw?/yf»?/

Foo~- %ﬂ,ﬂ’;+ /'Xffp

= gt e P
27 o Belisve plan Lo



(Vl%/JPf /4/74//74 n+/
& f )70 Hun 172
s 3'953

S. s
Lot ., P be prime. Lot
msp P
lan The comp ufwﬁa/s/ o 7
7 p have- 00 digit's
Ytr e towprlpy ta ke
moch Bt 2y inmsvednds

engt TpE T ;Z/mﬁ
X} Q. X&- /Wl)&)

publec

deop Ep# —
& 2 : \’;@Z o /s fn‘mfp.



We need

(e /15) =X,

|17 1y g H 223

33 3/
P72 g
L Fr 1L



